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1. In the TCP/IP protocol stack, Application layer is equivalent to which layer(s) of the
OSI model?

Presentation

2. Transmission of bit stream takes place at what layer of the OSI model?
Physical

3. Which of the following about frame relay is false?

It is found in LANs

4. system administration is purely

An engineering job

5. Application protocols include all but

UDP

6.  isused for translating IP addresses to MAC addresses
ARP

7. Segments are associated with

Transport

8. Transmission of bit stream takes place at what layer of the OSI model?

Physical

9. is a number that can be used to verify that the packet has been
transferred across the network without being corrupted

checksum

10. layer of ISO responsible for the sending of data by the sender and

interpreted by the receiver, so that there is no doubt about their contents?

Presentation layer

Whatsapp: 08089722160 or click here for TMA assistance

Practice E-exams & Chat with course mates on noungeeks.net


https://bit.ly/3Rb4Vxn  
https://T.me/NOUNSTUDENTSFORUM
https://wa.me/message/M3U4JPAOT4FEB1
https://noungeeks.net
http://www.a-pdf.com/?wm-demo

